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a The value 0.4 means that 40% of people who buy Sheez this time will buy Baaah next
time.

" . 0.7 0.3
b The tansition matrix is 11=[M M].
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This represents the market s
(64% for Baaah and 36% for

res of the two brands for the second buying period
heez).

il The market shares
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Baaah's market share for the third buying

period is 59.2%.
il The market shares for the sixth buying per

riod are represented by [0.8 0.2]Tf.
. i [07 031"
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Sheez’s market share for the sixth buying period is about 42.8%.

d We find the steady state proportions by examining T/" as
n increases

We calculate T,'™ using technology.
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So, the steady state market proportions are about 57.1%
for Baaah and about 42.9% for Sheez.




image2.png
e 08 0.2
27 o5 05

i The market shares after one buying period are represented by [0.57 0.43]Ts.
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Baaah's market share after one buying period is 67.1%,
i “The market shares after two buying periods arc represented by [0.57 0.43]T7.
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Baaah's market share afler two buying periods is about 70.1%.

il The market shares after four buying periods are represented by [0.57 0.43] Ty,

08 0.
0.5 0.

[057 043] T, = [0.57 043] [

~ [0.713 0.287]

Baaah's market share afier four buying periods is about 71.3%.




